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                   SUBJECT -ENGLISH 

READING 

Read  the  following   passage  and  answer the question no. -1 to 5. 

There were four friends –Circle, Square, Triangle and Rectangle. Once the friends started 

fighting. Each of them said they were the best. Circle said, I am round and beautiful. I have no 

edges. Square said,” I have four equal sides, children eat sweets which are square in shape. 

Triangle said in loud voice, “I have three sides, children enjoy my shape in making drawing 

and eating snacks. Rectangle laughed aloud,” I have four sides. Two are equally long and two 

are equally short. Children enjoy many things in my shape. 

1.Which friend does not have edges? 

a. square 

b. circle. 

c. rectangle 

d. triangle 

Answer:  b. circle 

Feedback- Square, rectangle and triangle have edges but circle is round. 

 

 

2. The thing which is not round in shape is ………. 

a. ball. 

b. sun. 

c. egg 

d. coin 

Answer:  c. egg  



Feedback- Ball, sun and coin are round but egg is oval. 

 

 

3. Which figures have two sides equal? 

a. square. 

b. rectangle. 

c. triangle 

d. all the above. 

Answer: c.rectangle   

Feedback- Square has all equal sides but rectangle always has two opposite sides of equal 

length. 

 

 

4.Mountains can be drawn using the………………. shape . 

a. square 

b. triangle. 

c. rectangle.  

d. circle 

Answer:  b. triangle 

Feedback- Mountain ‘s bottom part is always broad and top part is narrow like a triangle. 

 

5.A square has four ………. sides. 

a. curved  

b. unequal 

c. equal 

d. zigzag 

Answer:  c. equal 

Feedback- Square do not have curved, unequal and zigzag side. 

 

 

                GRAMMAR 

6.Which is the plural of the word-leaf ? 



a. leafs 

b. leavs 

c. leaves 

d. leavies 

Answer:  c.leaves-This is the correct spelling. 

Feedback- ‘leaves’ is the correct spelling. 

 

 

7. Choose the correct meaning of the given word- FINISH : 

a. end 

b. start 

c. middle 

d. continue 

Answer:  a.end 

 Feedback- This word means to complete something till last. 

 

 

8.Insert   the    correct   article in the given sentence: 

   I  have   ____________    beautiful doll.  

a. a 

b. an 

c. none 

d. the 

   Answer:  a. a 

   Feedback- B in beautiful is consonant. 

 

 

 

9.Choose the correct   option: 

My  name  is  Paul.____  go to  school every day. 

a.He 

b.She 

c.I 



d.It 

Answer:  c. I 

Feedback- It is used for first person. 

 

 

 

10. 

 

 

 

 

 

 

 

Very   big   plants   are called     _____________. 

a. Trees 

b. Herbs 

c. Climbers 

d. Shrubs 

    Answer:  a.trees 

Feedback- Herbs, shrubs and climbers do not have trunk. 

 

SUBJECT - HINDI 

निम्ननिखित गद्यांश को  ध्ययिपूर्वक पढ़कर क्रमयांक 1 से 5 तक के प्रश्ो ां के उत्तर दीनिये: 

एक जंगल में एक बहुत ही बड़ा शेर रहत़ा थ़ा। शेर क़ा वजन लगभग 250 ककलोग्ऱाम थ़ा। वह जंगल क़ा 

ऱाज़ा म़ाऩा ज़ात़ा थ़ा। उसके स़ामने सभी ज़ानवर डरते थे। वह बहुत ही शक्तिश़ाली थ़ा और हर किन 

अपने ऱाज्य की रक्ष़ा करत़ा थ़ा। एक किन शेर ने एक बहुत ही छोट़ा स़ा चूह़ा िेख़ा। चूह़ा बहुत ही म़ासूम 

और कनभीक होत़ा है। शेर ने उसे पकडने क़ा प्रय़ास ककय़ा, परंतु वह बहुत ही तेज िौड़ा और बच 

गय़ा।शेर ने इसे बहुत िेर तक ढंूढ़ा, परंतु वह नही ंकमल़ा। आक़िरक़ार शेर थक गय़ा और बोल़ा-“ इस 

छोटे से चूहे ने मुझे बहुत शकमिंि़ा कर किय़ा। यह छोट़ा स़ा होने के ब़ावजूि बहुत ही तेज़ है।” 

 

 

प्रश्न 1. शेर क़ा वजन ककतऩा थ़ा? 



a) 150 ककलोग्ऱाम  

b) 200 ककलोग्ऱाम  

c) 250 ककलोग्ऱाम 

d) 300 ककलोग्ऱाम 

उत्तर:  c) 250 ककलोग्ऱाम 

फीडबैक -गद्यांश के अिुसयर शहर कय र्िि 250 नकिोग्रयम है । 

 

प्रश्न 2. चूहे में कौन-कौन से गुण थे?  

a) भय़ानक और िुष्ट  

b) म़ासूम और कनभीक  

c) शक्तिश़ाली और ऱाज़ा 

d) बुक्तिम़ान और बह़ािुर 

उत्तर: b) म़ासूम और कनभीक 

फीडबैक- गद्यांश में चूहे को मयसूम और निर्भीक बतययय गयय है । 

 

प्रश्न 3. चूहे ने क्य़ा ककय़ा जब शेर ने उसे पकडने क़ा प्रय़ास ककय़ा?  

a) शेर के स़ामने डर गय़ा 

b) बहुत ही तेज िौड़ा और बच गय़ा  

c) शेर को क़ाट़ा 

d) शेर को ख़ा गय़ा 

उत्तर:  b) बहुत ही तेज िौड़ा और बच गय़ा 

फीडबैक- गद्यांश के अिुसयरशेर के दौड़िे पर चूहय बहुत ही तेि दौड़य और बच गयय । 

 

प्रश्न 4. शेर ने क्य़ा महसूस ककय़ा जब उसे चूहे को पकडने में ऩाक़ामी कमली?  

a) खुशी  

b) गुस्स़ा 

c) शमम 

d) डर 

उत्तर:  c) शमम 

फीडबैक-   शेर शखिशयिी होिे पर र्भी चूहे को िही ां पकड़ पययय इसनिए उसे शमव महसूस हुई । 

 

प्रश्न 5. इस कह़ानी क़ा मुख्य संिेश क्य़ा है? 

a) छोटे ज़ानवर भी बहुत बुक्तिम़ान होते हैं।  

b) शेर सभी ज़ानवरो ंक़ा ऱाज़ा होत़ा है।  



c) शेर और चूहे की िोस्ती क़ा महत्व है। 

d) छोटे ज़ानवरो ंसे स़ावध़ान रहऩा च़ाकहए। 

उत्तर: a) छोटे ज़ानवर भी बहुत ही बुक्तिम़ान होते हैं। 

फीडबैक-  चूहे की बुखिमयिी के कयरण ही शेर उसे पकड़ िही ां पययय ,इसनिए छोटे ियिर्र र्भी 

बुखिमयि होते हैं । 

 

प्रश्न 6.कनम्नकलक्तखत में से कौन स़ा शब्द अन्य शब्दो ंसे अलग है?  

a) केल़ा 

b) संतऱा 

c) सेब 

d) पत्त़ा  

उत्तर:  d) पत्त़ा  

फीडबैक-    क्ोांनक पत्तय फिो ां की शे्रणी में िही ां आतय है बयकी सर्भी फि है । 

 

प्रश्न 7."कबल्ली" क़ा बहुवचन क्य़ा होग़ा? 

a) कबल्ली  

b) कबल्ल़ा  

c) कबक्तल्लय़ााँ 

d) कबक्तल्लयो ं

उत्तर:  c) कबक्तल्लय़ााँ 

फीडबैक-  नबल्ली कय बहुर्चि नबखल्लययाँ होतय है । 

 

प्रश्न 8.कनम्नकलक्तखत में से कौन स़ा वगम अलग है? 

a) च़ावल, गेहाँ  

b) ग़ाडी, अंगूर 

c) कबल्ली, कुत्त़ा  

d) खेल, पढ़ाई 

उत्तर: b) ग़ाडी, अंगूर 

फीडबैक-  क्ोांनक गयड़ी और अांगूर कय आपस में कोई तयिमेि िही ां है ।  

 

प्रश्न 9.कनम्नकलक्तखत में से कौन स़ा व़ाक्य सही क्रम में है? 

a) खेलते हैं बचे्च प़ाकम  में।  

b) बचे्च प़ाकम  हैं खेलते में। 

c) प़ाकम  हैं बचे्च खेलते में। 



d) प़ाकम  में बचे्च खेलते हैं । 

उत्तर:  d) प़ाकम  में बचे्च खेलते हैं । 

फीडबैक- सही क्रम के रूप में पयकव  में बचे्च िेिते हैं, यही उनचत क्रम में है । 

प्रश्न 10. कलंग बिले- ऱाज़ा x_____ 

a) ऱाजकुम़ारी 

b) ऱानी 

c) मह़ाऱानी 

d) मह़ाऱाज 

उत्तर: b) ऱानी 

फीडबैक-  रयिय कय पययवयर्यची रयिी होतय है । 

 

  

SUBJECT - MATHEMATICS 

 

Q 1) The number one more than 99 is……… 

a) 98 

b) 100 

c) 101 

d) 97 

Answer: b) 100 

Feedback - 100 is the successor of 99 

 

Q.2) ______ and 55 makes 100. 

a) 25 

b) 35 

c) 45 

d) 55 

Answer: c) 45 

Feedback- Subtraction of 55 from 100 we get 45 

 

Q.3) Virat is batting on 181 runs ,how many runs he needs to complete the double century? 

a) 10  

b) 15 

c) 22 

d) 19 

Answer: d) 19 

Feedback- Double century means 200 and to complete 200 runs virat need 19 runs. 



 

Q.4)  What come next…. 

105,115,125,135…………… 

a) 155 

b) 145 

c) 195 

d) 136 

Answer: b) 145 

Feedback- Different between two number is 10 so next number will be 145. 

 

Q.5)  Write the standard form. 

100+40+1 = 

a) 140 

b) 150 

c) 600 

d) 141 

Answer: d) 141 

Feedback - Sum of the number is 141 

 

Q.6) Monu made 24 cookies.Then he made 35 more cookies. How many cookies did monu 

make in all? 

a) 58 

b) 68 

c) 59 

d) 69 

Answer: c) 59 

Feedback- Sum of 24 and 35 is 59 

 

Q.7) My Ones digit is 5  

My Tens digit is  2 more than my Ones digit. 

My Hundreds digit is 1 less than my Ones digit. 

I am the number……… 

a) 465 

b)475 

c)485 

d)575 

Answer: b) 475 

Feedback- One digit is 5 Ten digit is 7 Hundred digit is 4 answer is 475 



 

Q.8 . Find the missing numbers 

 
a) 9,90 

b) 9,60 

c) 8,60 

d)10,50 

Answer: b) 9, 60 

Feedback- To get 15 we must add 6 to 9 and to complete tower we should add 24 and 36. 

 

Observe the given picture carefully and give the answer of Q 9 & 10 

If you land on the bottom of a ladder ,you climb up. But if you land on the head of a 

snake,you slide down !  

 
Q9  If Ram is on the snake at number 98, which number will he reach? 

a) 53 

b) 15 

c) 8 

d) 11 

Answer: c) 8 

Feedback- from the rules of snake and ladder. 

 

Q I0. Which number will be Sohan if he take the ladder from 33 ? 



a) 85 

b) 99 

c) 38 

d) 31 

Answer: a) 85 

Feedback - From the rules of snake and ladder. 

 


